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3. Find the equation that represents exponential decay
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10. For the function f

A. l}n} f'(_\') =00

Find the domain, range, and y-intercept for th
graphing. Also state whether the function represen
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B. lin}f(‘\') = —0

(x)= 5% what is the limitas x —> 07

C. lim f(x)=0

Domain:
Range:
y-int:
Asymptote:

Graph the following and label any asylllptofes or intercepts
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15. If Jane invests $4,200 at an 8% interest compounded
c
money will there be after 10 years? . e
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(16-18) Answer the following questions with the following: an investment of $2000
that earns 3.4% interest £y :

{
16. Write an equation to describe the value V(t) of the investment at time t if the
interest is compounded annually.

17. What is the value of the investment after 10 years?
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18. How long would it take for the investment to reach $10,0007

19. A melting snowman is losing one-half of his weight each day. He originally
weighed 128 pounds. Assuming that the outside temperature stays the same, how
much does the snowman weigh after 5 days?
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20. A car with a cost of $25,000 is decreasing in value at a rate of 10% each year.
The function g(t) =25, 0(0.9)' [gives the value of the car after t years. When will the

value of the car be about $12,0007
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21. An online video game tournament begins with 4096 players. Four players play

in each game. In each game there is only one winner, and only the winner advances
to the next round. How many games will the winner play?
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